Nonlinear Functional Analysis and Applications Vol. 20, No. 2 (2015), pp. 329-336

http://nfaa.kyungnam.ac.kr/jour-nfaa.htm Copyright © 2015 Kyungnam University Press



OSCILLATION OF SOLUTIONS OF SECOND ORDER NEUTRAL TYPE DIFFERENCE EQUATIONS

E. Thandapani¹ and **S.** Selvarangam²

¹Ramanujan Institute for Advanced Study in Mathematics University of Madras, Chennai - 600 005, India e-mail: ethandapani@yahoo.co.in

> ²Department of Mathematics Presidency College, Chennai - 600 005, India e-mail: selvarangam.9962@gmail.com

Abstract. We study the oscillatory behavior of solutions of second order neutral type difference equation. We obtain conditions which ensure that all solutions are oscillatory. Examples are provided to illustrate the results.

1. INTRODUCTION

In this article, we study the oscillatory behavior of solutions to the second order nonlinear neutral type difference equation of the form

$$\Delta \left(a_n \psi(x_n) \left(\Delta z_n \right)^{\alpha} \right) \right) + q_n f\left(x_{n-\sigma+1} \right) = 0, \tag{1.1}$$

where $n \in N = \{n_0, n_{0+1}, ...\}$, n_0 a nonnegative integer, $z_n = x_n + p_n x_{n-\tau}$ and $\alpha \ge 1$ is a ratio of odd positive integers. Throughout, we assume the following conditions without further mention:

- (C1) $\{a_n\}, \{p_n\}, \{q_n\}$ are real sequences such that $a_n > 0, 0 \le p_n < 1$, $q_n \ge 0$ and q_n is not identically zero for infinitely many values of n;
- (C2) ψ and f are real-valued continuous function with $\psi > 0$, uf(u) > 0 for all $u \neq 0$, and there exist two positive constants K and L such that

$$\frac{f(u)}{u^{\alpha}} \ge K \quad \text{and} \quad \phi(u) \le L^{-1} \quad \text{for all } u \neq 0;$$

(C3) τ and σ are nonnegative integers;

⁰Received November 25, 2014. Revised February 24, 2015.

⁰2010 Mathematics Subject Classification: 39A10.

⁰Keywords: Oscillation, neutral type difference equation, second order.

E. Thandapani and S. Selvarangam

(C4)
$$A_n = \sum_{s=n}^{\infty} \frac{1}{a_s^{1/\alpha}}$$
 and $A_{n_0} < \infty$

By a solution of equation (1.1), we mean a real-valued sequence $\{x_n\}$ defined for all $n \ge N_1 \in N$ and satisfies equation (1.1) for all $n \ge N_1$. We consider any solutions satisfying condition $\sup \{|x_n| : n \ge N \ge N_1\} > 0$ and tacitly assume that equation (1.1) possesses such solutions. As usual, a solution of equation (1.1) is called oscillatory if it is neither eventually positive nor eventually negative, and nonoscillatory otherwise.

It is well known that various types of neutral difference equations are often appeared in applied problems in science and engineering, see, for example [1]. Recently, there is a great deal of attention in oscillatory properties of neutral type difference equations, see for example [2]-[10].

Next, we briefly review the following related results that motivated our study. Wang and Xu [9] obtained several oscillation criteria for equation (1.1) when $\psi(u) \equiv 1$, one of which we presented below. For the convenience of the reader, in what follows, we use the notations

$$b = k\epsilon^{\alpha}(1-p)^{\alpha}, \quad P_n = \sum_{s=n}^{\infty} \frac{1}{a_s^{1/\alpha}}$$

Theorem 1.1. ([9], Theorem 2.1) Assume that $\sigma > \tau$. If $\{p_n\}$ is nondecreasing,

$$\sum_{n=n_0}^{\infty} q_n = \infty,$$

and

$$\sum_{s=n}^{n-\tau+\sigma} q_s p_s > \frac{1}{b}$$

then every solution equation (1.1) is oscillatory.

Note that Theorem 1.1 is not valid for the difference equation

$$\Delta\left(3^n\left(x_n + \frac{1}{2^n}x_{n-2}\right)\right) + 3^n x_{n-1} = 0,$$

since $p_n = 1/2^n$ is decreasing and $\tau > \sigma$. Therefore the main purpose of this paper is to derive new oscillation criteria for equation (1.1) without requiring the condition $\{p_n\}$ is nondecreasing and $\sigma > \tau$. In Section 2, we present new oscillation results for equation (1.1), and in Section 3, we provide two examples to illustrate the main results.

2. Oscillation results

In this section we present some sufficient conditions which ensure that all solutions of equation (1.1) are oscillatory.

Theorem 2.1. Assume that there is a constant M such that $\psi(x) \ge M > 0$. Suppose that there exist two positive real sequences $\{\rho_n\}$ and $\{m_n\}$ such that $\{\rho_n\}$ is nondecreasing and

$$\frac{m_n}{(LM)^{1/\alpha} a_n^{1/\alpha} A_n} + \Delta m_n \le 0, \quad 1 - p_n \frac{m_{n-\tau}}{m_n} > 0, \tag{2.1}$$

$$\sum_{n=n_0}^{\infty} \left[p_n Q_N - \frac{1}{LK(\alpha+1)^{\alpha+1}} \frac{(\Delta \rho_n)^{\alpha+1} a_{n-\sigma}}{p_n^{\alpha+1}} \right] = \infty,$$
(2.2)

$$\sum_{n=n_0}^{\infty} \left[Kq_n A_{n+1}^{\alpha} \left(1 - p_{n-\sigma+1} \frac{m_{n-\sigma-\tau+1}}{m_{n-\sigma+1}} \right)^{\alpha} - \left(\frac{\alpha}{\alpha+1} \right)^{\alpha+1} \frac{A_n^{\alpha^2-1}}{LA_{n+1}^{\alpha^2} a_n^{1/\alpha}} \right] = \infty.$$
(2.3)

Then every solution of equation (1.1) is oscillatory.

Proof. Let $\{x_n\}$ be a nonoscillatory solution of equation (1.1). The proofs for eventually positive and for eventually negative solutions are similar. If $\{y_n\}$ is a negative solution, then $x_n = -y_n$ may not be a solution of equation (1.1), but x_n satisfies key estimates such as (2.1) with $\psi(-x_n)$ existend of $\psi(x_n)$. Then we can use that $\psi(x_n)$ and $\psi(-x_n)$ have same bounds, $M \leq \psi(.) \leq 1/L$.

We assume that there exists an integer $n_1 \in N$ such may $x_n > 0$, $x_{\sigma(n)} > 0$, and $x_{\tau(n)} > 0$ for all $n \ge n_1$. Then $z_n > 0$. From equation (1.1) it follows that for all $n \geq n_1$,

$$\Delta \left(a_n \psi(x_n) (\Delta z_n)^{\alpha} \right) \le -Kq_n x_{n-\sigma+1}^{\alpha} \le 0.$$
(2.4)

Hence, there is an integer $n_2 \ge n_1$ such that either $\Delta z_n > 0$ or $\Delta z_n < 0$ for all $n \ge n_2$. We consider these two cases separately.

Case 1. Let $\Delta z_n > 0$ for all $n \ge n_2$. As in the proof of [9], we obtain a contradiction to (2.2).

Case 2. Let $\Delta z_n < 0$ for all $n \ge n_2$. For $n \ge n_2$, we define

$$w_n = \frac{a_n \psi(x_n) (\Delta z_n)^{\alpha}}{z_n^{\alpha}}.$$
(2.5)

Then $w_n < 0$ for all $n \ge n_2$. Since $\Delta(a_n\psi(x_n)(\Delta(z_n)^{\alpha})) \le 0$, $a_n\psi(x_n)(\Delta z_n)^{\alpha}$ is nonincreasing. Thus, for all $s \ge n \ge n_2$

$$(a_s\psi(x_s))^{1/\alpha}\,\Delta z_s \le (a_n\psi(x_n))^{1/\alpha}\,\Delta z_n.$$

Dividing the last inequality by $(a_s\psi(x_s))^{1/\alpha}$ and summing the resulting inequality from n to l, for all $l \ge n \ge n_2$, we have

$$z_l \le z_n + (a_n \psi(x_n))^{1/\alpha} \Delta z_n \sum_{s=n}^l \frac{1}{(a_s \psi(x_s))^{1/\alpha}}.$$

Since $\Delta z_n < 0$ and $\psi \leq 1/L$, we conclude that, for all $l \geq n \geq n_2$,

$$z_l \le z_n + \left(La_n\psi(x_n)\right)^{1/\alpha} \Delta z_n \sum_{s=n}^l \frac{1}{a_s^{1/\alpha}}.$$

Letting $l \to \infty$, and using $z_n > 0$, we see that for all $n \ge n_2$,

$$0 \le z_n + (La_n\psi(x_n))^{1/\alpha}\,\Delta z_n A_n,$$

that is, for all $n \ge n_2$,

$$(a_n \psi(x_n))^{1/\alpha} A_n \frac{\Delta z_n}{z_n} \ge -\frac{1}{L^{1/\alpha}}.$$
 (2.6)

Hence, by (2.5), we conclude that, for all $n \ge n_2$,

$$-\frac{1}{L} \le w_n A_n^{\alpha} \le 0. \tag{2.7}$$

From (2.6) and $M \leq \psi$, we obtain

$$\frac{\Delta z_n}{z_n} \ge -\frac{1}{L^{1/\alpha} \left(a_n \psi(x_n)\right)^{1/\alpha} A_n} \ge -\frac{1}{(LM)^{1/\alpha} a_n^{1/\alpha} A_n}$$

Thus, we have

$$\Delta\left(\frac{z_n}{m_n}\right) = \frac{m_n \Delta z_n - z_n \Delta m_n}{m_n m_{n+1}}$$
$$\geq -\frac{z_n}{m_n m_{n+1}} \left[\frac{m_n}{(LM)^{1/\alpha} a_n^{1/\alpha} A_n} + \Delta m_n\right] \geq 0$$

Hence, the sequence $\{z_n/m_n\}$ is nondecreasing, and so

$$x_n \ge z_n - p_n \frac{m_{n-\tau}}{m_n} z_n = \left(1 - p_n \frac{m_{n-\tau}}{m_n}\right) z_n.$$

From (2.5), we have

$$\Delta w_n = \frac{\Delta (a_n \psi(x_n) (\Delta z_n)^{\alpha})}{z_n^{\alpha}} - \frac{a_{n+1} \psi(x_{n+1}) (\Delta z_{n+1})^{\alpha} \Delta z_n^{\alpha}}{z_{n+1}^{\alpha} z_n^{\alpha}}$$

$$\leq -Kq_n \left(1 - p_{n-\sigma+1} \frac{m_{n-\sigma-\tau+1}}{m_{n-\sigma+1}}\right) \frac{z_{n-\sigma+1}^{\alpha}}{z_n^{\alpha}} - w_n \frac{\Delta z_n^{\alpha}}{z_{n+1}^{\alpha}}.$$
 (2.8)

By Mean value theorem, we have

$$\Delta z_n^{\alpha} = \alpha t^{\alpha - 1} \Delta z_n,$$

where $z_{n+1} < t < z_n$. Thus,

$$\Delta z_n^{\alpha} \le \alpha z_{n+1}^{\alpha-1} \Delta z_n$$

From (2.8), and the last inequality we obtain

$$\Delta w_n \le -Kq_n \left(1 - p_{n-\sigma+1} \frac{m_{n-\sigma-\tau+1}}{m_{n-\sigma+1}}\right) - \alpha w_n \frac{\Delta z_n}{z_n},\tag{2.9}$$

where we have used $z_n > 0$ and nonincreasing. From (2.9) and (2.5) we have

$$\Delta w_n + Kq_n \left(1 - p_{n-\sigma+1} \frac{m_{n-\sigma-\tau+1}}{m_{n-\sigma+1}}\right) + \frac{\alpha L^{1/\alpha}}{a_n^{1/\alpha}} (-w_n)^{\frac{\alpha+1}{\alpha}} \frac{\Delta z_n}{z_n} \le 0. \quad (2.10)$$

Multiplying (2.10) by A_{α}^{n+1} and summing the resulting inequality from n_3 to n-1, we deduce that

$$A_{n}^{\alpha}w_{n} - A_{n_{3}}^{\alpha}w_{n_{3}} + \sum_{s=n_{3}}^{n-1} \alpha w_{s} \frac{A_{s}^{\alpha-1}}{a_{s}^{1/\alpha}} + K \sum_{s=n_{3}}^{n-1} A_{s+1}^{\alpha}q_{s} \left(1 - p_{n-\sigma+1} \frac{m_{n-\sigma-\tau+1}}{m_{n-\sigma+1}}\right)^{\alpha} + \alpha L^{1/\alpha} \sum_{s=n_{3}}^{n-1} \frac{A_{s+1}^{\alpha}}{a_{s}^{1/\alpha}} (-w_{s})^{\frac{\alpha+1}{\alpha}} \leq 0.$$
(2.11)

Let

$$p = \frac{\alpha + 1}{\alpha}, \quad q = \alpha + 1,$$

$$a = L^{1/\alpha + 1} (\alpha + 1)^{\alpha/\alpha + 1} A_{n+1}^{\alpha^2/\alpha + 1},$$

$$b = L^{-1/\alpha + 1} \frac{\alpha}{(\alpha + 1)^{\alpha/\alpha + 1}} \frac{A_n^{\alpha - 1}}{A_{n+1}^{\alpha^2/\alpha + 1}}.$$

Using Young's inequality

$$|ab| \le \frac{1}{p} |a|^p + \frac{1}{q} |b|^q$$
, where $a, b \in R, \ p > 1, \ q > 1, \ \frac{1}{p} + \frac{1}{q} = 1$,

we have

$$-\alpha A_n^{\alpha - 1} w_n \le \alpha L^{1/\alpha} A_{n+1}^{\alpha} (-w_n)^{\alpha + 1/\alpha} + \left(\frac{\alpha}{\alpha + 1}\right)^{\alpha + 1} \frac{A_n^{\alpha^2 - 1}}{LA_{n+1}^{\alpha^2}}$$

E. Thandapani and S. Selvarangam

and hence

$$\frac{-\alpha A_n^{\alpha-1} w_n}{a_n^{1/\alpha}} \le \frac{\alpha L^{1/\alpha} A_{n+1}^{\alpha} (-w_n)^{\alpha+1/\alpha}}{a_n^{1/\alpha}} + \left(\frac{\alpha}{\alpha+1}\right)^{\alpha+1} \frac{A_n^{\alpha^2-1}}{L A_{n+1}^{\alpha^2} a_n^{1/\alpha}}$$

Therefore, it follows from (2.7) and (2.11) that

$$\sum_{s=n_3}^{n-1} \left[Kq_s A_{s+1}^{\alpha} \left(1 - p_{n-\sigma+1} \frac{m_{n-\sigma-\tau+1}}{m_{n-\sigma+1}} \right)^{\alpha} - \left(\frac{\alpha}{\alpha+1} \right)^{\alpha+1} \frac{A_s^{\alpha^2-1}}{L A_{s+1}^{\alpha^2} a_s^{1/\alpha}} \right] \\ \leq A_{n_3}^{\alpha} w_{n_3}^{\alpha} - A_n^{\alpha} w_n \leq \frac{1}{L} + A_{n_3}^{\alpha} w_{n_3}^{\alpha},$$

which contradicts (2.3). The proof is now completed.

Remark 2.2. The sequence $\{m_n\}$ in Theorem 2.1 can be obtained by setting $m_n = A_n$ in the case $LM \ge 1$.

If the restriction $\psi(x) \ge M > 0$ is not satisfied then Theorem 2.1 cannot be applicable. For example when

$$\psi(u) = \frac{1}{u^2 + 1}$$

the following result proves to be useful.

Theorem 2.3. Assume that condition (1.1) holds. Let $\psi(x)$ be nonincreasing for all x > 0, and nondecreasing for all x < 0. Suppose there exist two positive real sequences $\{\rho_n\}$ and $\{m_n\}$ such that, for any fixed constant l > 0,

$$\frac{m_n}{(L\psi(l))^{1/\alpha} a_n^{1/\alpha} A_n} + \Delta m_n \le 0, \quad 1 - p_n \frac{m_{n-\tau}}{m_n} > 0$$
(2.12)

and such that conditions (2.2) and (2.3) are satisfied. Then every solution of equation (1.1) is oscillatory.

Proof. As in the proof of Theorem 2.1, we only need to prove the case where $\Delta z_n < 0$. In this case, there exists a constant l > 0 such that $0 < x_n \le z_n \le l$. Using the monotonicity of ψ , we deduce that $\psi(x) \ge \psi(l)$. Along the same lines as in Theorem 2.1, we conclude that

$$\frac{\Delta z_n}{z_n} \ge \frac{1}{L^{1/\alpha} \ (a_n \psi(x_n))^{1/\alpha} \ A_n} \ge -\frac{1}{(L\psi(l))^{1/\alpha} \ a_n^{1/\alpha} \ A_n}$$

Hence, we have

$$\begin{split} \Delta\left(\frac{z_n}{m_n}\right) &= \frac{m_n \Delta z_n - z_n \Delta m_n}{m_n m_{n+1}} \\ &\geq -\frac{z_n}{m_n m_{n+1}} \left[\frac{m_n}{(L\psi(l))^{1/\alpha} a_n^{1/\alpha} A_n} + \Delta m_n\right] \geq 0. \end{split}$$

Thus, the sequence $\{z_n/m_n\}$ is nondecreasig. The remaining part is similar to that of Theorem 2.1 and hence is omitted.

3. Examples

In this section we present two examples to illustrate the theoretical results obtained in the previous section.

Example 3.1. Consider the second order neutral delay difference equation

$$\Delta\left(n(n+1)\frac{x_n^2+2}{x_n^2+1}\Delta\left(x_n+\frac{1}{4}x_{n-2}\right)\right) + \frac{15}{2}(n-1)^2x_{n-4} = 0, \quad n \ge 4.$$
(3.1)

Here, $a_n = n(n+1)$, $\psi(x) = \frac{x^2+2}{x^2+1}$, $p_n = 1/4$, f(x) = x and $q_n = \frac{15}{2}(n+1)^2$. Then $1 \leq \psi(x) \leq 2$, and we can fix M = 1, K = 1 and L = 1/2. Let $m_n = \frac{1}{n(n+2)}$ and $\rho_n = 1$. Since all conditions of Theorem 2.1 are satisfied and therefore every solution of equation (3.1) is oscillatory. In fact $\{x_n\} = \{(-1)^n\}$ is one such oscillatory solution of equation (3.1).

Example 3.2. Consider the second order neutral difference equation of the form

$$\Delta\left(\frac{n(n+1)}{x_n^2+1}\Delta\left(x_n+\frac{1}{n}x_{n-1}\right)\right) + nx_{n-1} = 0, \quad n \ge 2.$$
(3.2)

Here, $a_n = n(n+1)$, $\psi(x) = \frac{1}{x^2+1}$, $p_n = 1/n$, f(x) = x, $\sigma(n) = \tau(n) = n-1$ and $q_n = n$. Then $\psi(x) \leq 1$, and we can fix K = 1 and L = 1. Let $m_n = n^{-1-l^2}$ and $\rho_n = 1$. It is easy to verify that all conditions of Theorem 2.3 are satisfied and therefore every solution of equation (3.2) is oscillatory.

We conclude this paper with the following remark.

Remark 3.3. In this paper, using Riccati transformation and Young's inequality, we have established new oscillation criteria for the neutral difference equation (1.1) assuming condition (2.1) is satisfied. Note that in the study of oscillation of solution of equation (1.1), the case $\Delta z_n < 0$ brings additional difficulties. One of the important difficulties one encounters lies in the fact that if $\{x_n\}$ is an eventually positive solution of equation (1.1), then the inequality

$$x_n \ge (1 - p_n)z_n$$

does not hold when $\Delta z_n < 0$ is satisfied. However in this paper, we obtain similar inequality by using condition (2.1) or (2.12). Thus, we have presented new criteria for the oscillation of all solutions of equation (1.1). It would be

interesting to study the oscillatory properties of equation (1.1) without using the condition (2.1) or (2.12), and it remains an open problem at the moment.

References

- R.P. Agarwal, *Difference Equations and Inequalities*, Second Edition, Marcel Dekkar, New York (2000).
- [2] R.P. Agarwal, M. Bohner, S.R. Grace and D. O'Regan, Discrete Oscillation Theory, Hindawi Publ. Corp., New York (2005).
- [3] R.P. Agarwal, M.M.S. Manuel and E. Thandapani, Oscillatory and nonoscillatory behavior of second order neutral delay difference equations, Math. Comput. Model., 24 (1996), 5–11.
- [4] J. Cheng, Kamenev-type oscillation criteria for delay difference equations, Acta Math. Appl. Sinica, 27 (2011), 93–104.
- [5] J. Jiang, Oscillation of second order nonlinear neutral delay difference equations, Appl. Math. Comput., 146 (2003), 791–801.
- [6] E. Thandapani and K. Mahalingam, Oscillation and nonoscillation of second order neutral delay difference equations, Czech. Math. J., 53 (2003), 935–947.
- [7] E. Thandapani and S. Selvarangam, Oscillation of second order Emden-Fowler type neutral difference equations, Dyn. Cont. Disc. Impul. Sys., 19 (2012), 453–469.
- [8] E. Thandapani and V. Balasubramanian, Some oscillation theorem for second order nonlinear neutral type difference equations, Malaya J. Math., 3 (2013), 34–43.
- [9] D.M. Wang and Z.T. Xu, Oscillation of second order quasilinear neutral delay difference equations, Acta Math. Appl. Sinica, 27 (2011), 93–104.
- [10] B.G. Zhang and S.H. Saker, Kamenev-type oscillation criteria for nonlinear neutral delay difference equations, Indian J. Pure Appl. Math., 34 (2003), 1571–1584.